RZUT PARTERU
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D1 - 100x213 (80x200), wn=0
D2 - 95x210, wr
D3 - 95x210, wi
D4 - 95x210,wn=0

D5 - 100x213, wn=0

01 - 205x148, wn=22, hp=81
02 - 205x148, wn=22, hp=81
03 - 205x148, wn=22, hp=81
04 - 209x230, wn=25, hp=0

05 - 205x148, wn=22, hp=81
06 - 205x148, wn=22, hp=81
O7 - 205x148, wn=22, hp=81

Podciagi [BxHxL]
P-132x25x127
P-232x20x127
P-332x23x128
P-4 38x(44+18)x0,5x131

Wysokos¢ tynku mozaikowego
h=160

[wymiary w centymetrach]




RZUT PIETRA
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D1 - 100x212, wn=0
D2 - 100x212, i
D3 - 100x212, wi
D4 - 100x212, wi
D5 - 100x212, wi

01 - 208x146, wr
02 - 208x146, wr
03 - 208x146, wn=2:
04 - 208x146, wr

Podciagi [BxHxL]
P-154x25x138
P-2 46x25x138
P-3 44x25x138
P-4 43x25x138

Wysokos¢ tynku mozaikowego
h=160

[wymiary w centymetrach]




RZUT PARTERU - LOKALIZACJA SCHOWKA
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